Verified by: L. Alexander

	1	7	7/	7				are and E	quipinone						
ITEM	DESCRIPTION OF ITEM	EST.	UNIT DF Music Emterprose, Inc.				Hertz Furnitu	ıre	МЕ	LHART Music	Center	National Educational Music Co.			
		QTY		Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model
1	Cabinet 100 Slot choral folio	60	Each	\$0.00	\$0.00	NO BID	\$1,353.00	\$81,180.00	Randal Folio 100	\$1,190.00	\$71,400.00	MELHART CMFC100D-	\$0.00	\$0.00	NO BID
2	Cabinet 75 Slot band/orchestra folio	60	Each	\$0.00	\$0.00	NO BID	\$1,273.00	\$76,380.00	Randal Folio 75	\$989.00	\$53,880.00	MELHART BDMFC 75D-	\$0.00	\$0.00	NO BID
3	Cabinet Guitar	60	Each	\$0.00	\$0.00	NO BID	\$1,402.00	\$84,120.00	Randal 19 WD	\$1,340.00	\$80,400.00	MELHART 6-	\$0.00	\$0.00	NO BID
4	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,497.00	\$89,820.00	Randal 1 WD	\$1,465.00	\$87,900.00	MELHART 15-20M	\$0.00	\$0.00	NO BID
5	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,327.00	\$79,620.00	Randal 4 WD	\$1,345.00	\$80,700.00	MELHART 10-30M	\$0.00	\$0.00	NO BID
6	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,675.00	\$100,500.00	Randal 2 WD	\$1,485.00	\$69,000.00	MELHART 15-30M	\$0.00	\$0.00	NO BID
7	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$917.00	\$55,020.00	Randal 10 WD	\$1,125.00	\$67,500.00	MELHART 3- 30M	\$0.00	\$0.00	NO BID
8	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,012.00	\$60,720.00	Randal II WD	\$1,175.00	\$70,500.00	MELHART 3- 40M	\$0.00	\$0.00	NO BID
9	Cabinet Instrument Storage	60	Each	\$0,00		no bid	\$1,309.00	\$78,540.00	randal 7 WD	\$1,320.00	\$79,200.00	MELHART 6 + I 40-M	\$0.00	\$0.00	NO BID
10	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$0.00	\$0.00		\$1,620.00	\$97,200,00	MELHART PCC	\$0.00	\$0.00	NO BID
11	Cabinet Robe and Uniform	60	Each	\$0.00		NO BID	\$881.00	\$52,860.00	Randal 32 WD	\$1,230.00	\$73.800.00	MELHART W22U-M	\$0.00	\$0.00	NO BID
12	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1,473.00		Randal 5 WD	\$1,379.00	\$82,740.00	MELHART 10-40 - M	\$0.00	\$0.00	NO BID
13	Cart	60	Each	\$0,00	\$0.00	NO BID	\$266.00	\$15.960.00	National Public Seating D4MS20	\$379.00	\$22,740.00	MELHART LMSC - 20	\$0.00	\$0,00	NO BID
	Stand	60	Each	\$0.00	\$0,00	NO BID .	\$36.00	4	National Public Seating 82MS	\$37.00	\$2,200.00	MELHART CMS	\$0.00	\$0.00	NO BID
15	Rack Bass	60	Each	\$0.00	\$0.00	NO BID	\$696.00	\$41,760.00	Randal Bass 3	\$695,00	\$41,700.00	MELHART B4SR	\$0.00	\$0.00	NO BID
	Rack Cello	60	Each	\$0.00	\$0.00	NO BID	\$635.00	\$38,100.00	Randal Cello 4	\$695.00	\$41,700.00	MELHART C6SR	\$0.00	\$0.00	NO BID
17	Rack Violin/Viola	18	Each	\$0.00	\$0.00	NO BID	\$759.00		Randal Violin 16	\$680.00	\$12,240.00	MELHART V16 SR	\$0.00	\$0.00	NO BID
	Total Low Items 18 through 22														
	Chair, Music black	1000	Each	\$0.00	\$0.00	NO BID	\$52.00		National Public Seating 8210	\$68.00	\$68,000.00	MELHART SRB0C B/B	\$0.00	\$0.00	NO BID
,	Chair, Music Chrome	1000	Each	\$0.00	\$0.00	NO BID	\$61.00	\$61,000.00	Nat'l Public Seating 3210. Min order 150	\$68.00	\$68,000.00		\$0,00	\$0.00	NO BID
20	Chair storage cart	1000	Each	\$0.00	1 00.02	NO BID	\$140.00	\$140,000.00		\$259.00	\$259,000.00	MELHART MCC	\$0.00	\$0,00	NO BID

M	DESCRIPTION OF ITEM	EST.	UNIT	T Nick Rail Music				School Spec	cialty Inc.	Stage Right Corporation			
		QTY		Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model				
	Cabinet 100 Slot choral folio	60	Each	\$0.00	\$0.00	NO BID	\$1,330.49	\$79,829.40	FLEETWOOD 563209.751XXXX	\$0.00	\$0,00	NO BID	
	Cabinet 75 Slot band/orchestra folio	60	Each	\$0.00	\$0.00	NO BID	\$1,120.73	\$67,243.80	FLEETWOOD 563109.551XXXX	\$0.00	\$0.00	NO BID	
	Cabinet Guitar	60	Each	\$0.00		NO BID	\$1,357.33	\$81,439.80	FLEETWOOD 5606172.244.XX	\$0.00	\$0.00	NO BID	
	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1.608.97	\$96,538.20	FLEETWOOD 561517.242.XXXX	\$0.00	\$0.00	NO BID	
5	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,453.74	\$87,204.00	FLEETWOOD 561017.243.XXXX	\$0.00	\$0.00	NO BID	
	Cabinet Instrument Storage	60	Each	\$0.00	\$0.00	NO BID	\$1,656.38	\$99,382.80	FLEETWOOD 561517.243.XXXX	\$0.00	\$0.00	NO BID	
	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$983.68	\$59,020.80	FLEETWOOD 560317,243.XXX	\$0.00	\$0.00	NO BID	
	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1,091.14	\$65,468.40	FLEETWOOD 560317.244.XXXX	\$0.00	\$0.00	NO BID	
)	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1,456.02	\$87,361.20	FLEETWOOD 560717.244.XXXX	\$0.00	\$0.00	NO BID	
0	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1,152.60		FLEETWOOD 56800.000.XXXX	\$0.00	\$0.00	NO BID	
1	Cabinet Robe and Uniform	60	Each	\$0.00		NO BID	\$890.67		FLEETWOOD 562112.243.XXXX	\$0.00	\$0.00	NO BID	
2	Cabinet Instrument Storage	60	Each	\$0.00		NO BID	\$1,606.85	\$96,411.00	FLEETWOOD 561017.244.XXXX	\$0.00	\$0.00	NO BID	
3	Cart	60	Each	\$250,00	\$15,000.00	MANHASSET #AC94R	\$246.00	· · · · · ·	NAT'L PUBLIC SEATING DYMS20	\$0.00	\$0.00	NO BID	
	Stand	60	Each	\$23.50		MANHASSET #M48	\$46.75	\$2,805.00	NAT'L PUBLIC SEATING 82MS	\$0.00	\$0.00	NO BID	
	Rack Bass	60	Each	\$0.00	\$0.00	NO BID	\$711.64	\$48,698.40	FLEETWOOD 564200.00.XX00	\$0.00	\$0.00	NO BID	
6	Rack Cello	60	Each	\$0.00	\$0.00	NO BID	\$711.05	\$42,633.00	FLEETWOOD 564200.000.XX00	\$0.00	\$0.00	NO BID	
	Rack Violin/Viola	18	Each	\$0.00	\$0.00	NO BID	\$1,102.50	\$19,845.00	FLEETWOOD 56440.00.XX00	\$0.00	\$0.00	NO BID	
	Total Low Items 18 through 22						-					***************************************	
	Chair, Music black	1000	Each	\$60,00	\$60,000.00	DESAZO #DMC	\$59.33	•	NAT'L PUBLIC SEATING 8210	\$0.00	\$0.00	NO BID	
9	Chair, Music Chrome	1000	Each	\$0.00	\$0.00	NO BID	\$66.00	\$66,000.00	NAT'L PUBLIC SEATING 8210 CHROME	\$0.00	\$0.00	NO BID	
0	Chair storage cart	1000	Each	\$190.00	\$190,000.00	DESHAZO #DCC	\$130.08		NAT'L PUBLIC SEATING DY82	\$0.00	\$0.00	NO BID	

7						
ITEM	DESCRIPTION OF ITEM	EST.	UNIT		We	nger Corporatio
		QTY		Unit Price	Total Price	Manuf & Model
1	Cabinet 100 Slot choral folio	60	Each	\$1,380.00	\$82,800.00	Wenger As Specified
2	Cabinet 75 Slot band/orchestra folio	60	Each	\$1,267.00		Wenger As Specified
3	Cabinet Guitar	60	Each	\$1,494.00	\$89,640.00	Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,646.00	\$98,760.00	Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1.592.00	\$95,520.00	Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,700.00		Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,294.00		Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1.343.00	\$80,580.00	Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,646.00		Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,754.00	\$105,240.00	Specified
	Cabinet Robe and Uniform	60	Each	\$1,294.00		Wenger As Specified
	Cabinet Instrument Storage	60	Each	\$1,646.00		Wenger As Specified
	Cart	60	Each	\$380,00	\$22,800.00	Wenger As Specified
	Stand	60	Each	\$47.00	\$2,820.00	Wenger As Specified
15	Rack Bass	60	Each	\$723.00	\$43,380.00	Wenger As Specified
16 F	Rack Cello	60	Each	\$723.00	\$43,380,00	Wenger As Specified
	Rack Violin/Viola	18	Each	\$782.00		Wenger As Specified
	Total Low Items 18 through 22			<u> </u>		· · · · · · · · · · · · · · · · · · ·
	Chair, Music black	1000	Each	\$51.00	\$51,000,00	Wenger As Specified
	Chair, Music Chrome	1000	Each	\$51.00	\$51,000.00	Wenger As Specified
20 0	Chair storage cart	1000	Each	\$125.00	\$125,000.00	Wenger As Specified

1777 277 1 4																
ITEM	DESCRIPTION OF ITEM	EST.	UNIT	T DF Music Emterprose, Inc.			Hertz Furniture			MELHART Music Center			National Educational Music Co.			
		QTY		Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode	
21	Folding tablet, left hand, for chair	1000	Each	\$0.00	\$0.00	NO BID	\$49.00	\$49,000.00	Nat'l Public Seating TA82L	\$66.00	\$66,000.00	MELHART FTL	\$0.00	\$0.00	NO BID	
22	chair	1000	Each	\$0.00	\$0.00	NO BID	\$49.00	\$49,000.00	Nat'l Public Seating TA82r	\$66.00	\$66,000.00	MELHART FTR	\$0.00	\$0.00	NO BID	
	Total				\$0.00			\$351,000.00			\$527,000.00	·	\$0.00		I	
	Conductor's system	50	Each	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	\$1.520.00	\$76,000.00	MELHART MCPSB-P	\$0.00	\$0.00	NO BID	
	Conductor's system	50	Each	\$0.00	\$0.00		\$0.00		NO BID	\$1,520.00		MELHART MCPSC-P	\$0.00	\$0.00	NO BID	
	Midi workstation	10	Each	\$0.00	00.02		\$1,125.00		Randal MSC- LAB	\$995.00		MELHART MCWS	\$0.00	\$0.00	NO BID	
	Risers	100	Each	\$0,00	\$0.00		\$0.00	\$0.00	NO BID	\$16,800.00	\$1,680,000.00	MELHART VLR6070	\$0.00	\$0.00	NO BID	
	Risers	100	Each	. \$0,00	\$0.00		\$891.00	\$89,100.00	Nat'l Public Seating TP72 with GRTPR	\$1,095.00	\$109,500.00		\$0.00	\$0,00	NO BID	
28	Risers	100	Each	\$0.00	\$0.00		\$0.00	\$0.00	NO BID	\$8,995.00	\$899,500.00	MELHART AP/AR	\$0.00	\$0,00	NO BID	
29	Legacy acoustical shell	29	Each	\$0.00	\$0.00		\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	\$0.00	\$0,00	NO BID	
30	Back rail	100	Each	\$0.00	\$0.00		\$0.00	\$0.00	NO BID	\$279.00	\$27,900.00	MELHART GR6	\$0.00	\$0.00	NO BID	
31	Portable floor	20	Each	\$0.00	\$0.00		\$0.00	\$0.00	NO BID	\$15,000.00	\$300,000.00		\$0.00	\$0,00	NO BID	
32	Balance of award %						32%	Randal	10 10 10 10 10 10 10 10 10 10 10 10 10 1	0-8%					NO BID	
32	Balance of award %						34%	National Public Seating								

				,					1				
ITEM DESCRIPTION OF ITEM		EST.	UNIT	JNIT Nick Rail Music				School Spec	ialty Inc.	Stage Right Corporation			
		QTY		Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model				
21	Folding tablet, left hand, for chair	1000	Each	\$0.00	\$0.00	NO BID	\$42.87	\$42,870.00	NAT'L PUBLIC SEATING TA82L	\$0.00	\$0.00	NO BID	
22	Folding tablet, right hand, for chair	1000	Each	\$0.00	\$0.00	NO BID	\$42.87	\$42,870.00	NAT'L PUBLIC SEATING TA82R	\$0.00	\$0.00	NO BID	
	Total				\$250,000.00	<u> </u>	.t	\$341,000.00	I	-l	\$0.00		
23	Conductor's system	50	Each	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	
24	Conductor's system	50	Each	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID .	\$0.00	\$0.00	NO BID	
25	Midi workstation	10	Each	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	
	Risers	100	Each	\$0.00		NO BID	\$0.00	\$0.00	NO BID	\$2,900.00	\$290,000.00	STAGERIGHT DECK/2-800	
	Risers	100	Each	\$0.00	\$0.00	NO BID	\$919.89	\$91,981.00	NAT'L PUBLIC SEATING	\$1,275.00	\$127,500,00	STAGERIGHT FR-30	
	Risers	100	Each	\$0.00		no bid	\$0.00	\$0.00	NO BID	\$500.00	\$50,000.00	STAGERIGHT GUARDRAIL & FRON HAND CLOSURE ACCESSORIES PACKAGE	
	Legacy acoustical shell	29	Each	\$0.00	\$0,00	NO BID	\$0.00	\$0.00	NO BID	\$1,825.00	\$52.925.00	STAGERIGHT ALLA BREVE MUSIC SHELL	
	Back rail	100	Each	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	\$190.00	\$19,000.00	STAGERIGHT BACK RAIL 6'	
31	Portable floor	20	Each	\$0.00	\$0,00	NO BID	\$0.00	\$0.00	NO BID	\$0.00	\$0.00	NO BID	
32	Balance of award %					NO BID	25%					NO BID	
32	Balance of award %				200		100						

<u></u>	Transfer of the second			·		
ITEM	DESCRIPTION OF ITEM	EST.	UNIT	The state of the s	Wei	nger Corporation
		QTY		Unit Price	Total Price	Manuf & Model
21	Folding tablet, left hand, for chair	1000	Each	\$46.00	\$46,000.00	Wenger As Specified
22	Folding tablet, right hand, for chair	1000	Each	\$46.00	\$46,000.00	Wenger As Specified
	Total		١	:	\$319,000.00	
23	Conductor's system	50	Each	\$2,065.00	\$103.250.00	Wenger As Specified
24	Conductor's system	50	Each	\$2,095.00	\$104,750.00	Wenger As Specified
25	Midi workstation	10	Each	\$1,264.00	\$12,640.00	Wenger As Specified
	Risers	100	Each	\$21,036.00	\$2,103,600.00	Wenger As Specified
27	Risers	100	Each	\$1,130.00	\$113,000.00	Wenger As Specified
28	Risers	100	Each	\$9,256.00	\$925,600.00	Wenger As Specified
29	Legacy acoustical shell	29	Each	\$2,432.00	\$70,528.00	Wenger As Specified
	Back rail	100	Each	\$395.00	\$39,500.00	Wenger As Specified
31	Portable floor	20	Each	\$21,253.00	\$424,060.00	
32	Balance of award %			5%		Wenger
32	Balance of award %				AL	

Nick Rail Music – Vendor did not bid on items 19, 21 and 22. Bid states lines 18 through 22 shall be awarded on a total low basis. Vendor must bid all items.